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ENGLISH VERSION

Instructions : (1) Marks of all questions are equal.

(2) Answer any four questions.

1  In asurvey of 400 girls of which 40% were beautiful, 30% had 17.5

handsome father, while 20% of the not beautiful girl had handsome
father.

Do these figures support the hypothesis that handsome fathers
have beautiful girls ? Test at 5% level of significance.
[Table value = 3.841].

2 5 dice thrown for 486 times and obtaining 5 or 6 is regarded  17.5

as success. The distribution of number of successes is given below.

Test the hypothesis at 5% level of significance.

No. of
Successes
Frequency | 70 | 168 | 150 |80 |15 |3

O 1|2 1[3]4]5

(Table value : 9.488)

3 Analyze the following result of Latin Square experiments. 17.5

A2 [Cc@a9 B0 ] D®)
C(18) [B12) | D) | A(7)
B(22) [D(10) | A(5) | C 1)
D12 | A7) [cen B

In the above table A, B, C, D shows the treatments and figures

show the observations. Test at 5% significant level.

[Table value = (3, 6) = 4.76]
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4 A toothpaste manufacturing company had made experiment of  17.5

five types of tooth paste in four different cities. Sales received
from the experiment is given below in a table. Set up analysis of
variance for this information.

City Sales of Tooth Paste (in thousand)

Tl T2 13 T4 TS5
A 24 12 16 20 10
B 28 30 20 20 10
C 16 8 24 16 20
D 20 20 16 16 20

Table value = (12, 3) = 847, (12, 4) = 5.91

5  How to design questionnaire ? Explain the points of 17.5
construction of questionnaire.

6 (a) Whatis Primary Data ? Explain it advantages and 10
disadvantages.
(b) State the uses of tabulation. 7.5

7 In a random sample of 1200 men from one city, 900 men were 17.5

found to be smokers. In another sample of 1800 men from another
city 900 men were found to be smokers. From this information is
it say that smoking habit among men is equal in both the cities ?
[Table Value = 1.96]

8  Sales data of six shops are given below. 17.5
Sales Shops
A B C D E F
Before
advertisement 53 28 32 48 50 42
After

advertisement 58 32 30 50 56 45

Is it say that advertisement is effective ? Test at 5% level of
significance.

[Table value =2.57]
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